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3/26/14

Evaluate

A log,256
|

B) log, 3

¢ log,4*

D) elnl6

#1)

Switch between
exponential and log
form.

a log, x=y
B) 4=Inr

0 107 =832
D) k=503

#2)

Expand

in _....i.x_z___.
red)
Condense

log, (m-n)-3log, m+£log2 n

* Find the parent function and transformations.

#3)

Graph the function using transformations.
Graph the asymptote. Find the Domain and

Range.

y= %log4 (-3x)+2

#4)

Solve.

1

A) 04e’ =29

B) 2-49°+11-7°+5=0

Solve.

A) log,100=2

#5)

B) logs(x+3)=1-log,(x~1)
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The function fis pictured to the below. Use it to answer 1-11)

A {2, 4}

“4.3
3.3

3
2

1
(-8, 0} of0. 0

-2, -2

1. Domain:

2. Range:

3. Local Maximum(s):

4. Local Minimum(s):

5. Intervals increasing:

6. Intervals decreasing:
7. f(4)

8. For what values of x does f(x)=0?

O

. x-intercept(s):

10. y-intercept(s):

7. Find the domain of the function.

a) gx)=+12-4x

3x -1

b) h(x) =il
) o) x> =Tx+10

c) f(x)=5x>+8

I, E%g@

2. {’2; %]
At k=2 Hre maxis Y

3,
Y, M x=-7 Yo min i -1
5. (-2,2)

b. (-4 -DU(Z,5(4,%)
7.3
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8. Determine if the function is EVEN, ODD, or NEITHER. Explain.

a) k(x)=x" -4x

b)

34
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1. Let f(x) =42x -5 and g(x) =3x* -4.

a.) find (f°g)2)
b.) find (g° g)(-3)
c.) find (go f)(x)

d.) Domain of (go f)(x)

2. Determine if each is a one-to-one function or not a one-to-one function.

N

a)

b) N /

3. Determine the domain of f(x), then find its inverse.
Find the domain and range of both f(x) and its inverse.

x+4
x-2

fx)=

(Y=Y = 2
v

K-V) =LA
Y( 27(%‘4

y- 25
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